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Sample Data: Brooks and Corey Type Curve Matching

	, dimensionless
	Swi, fraction
	Pd, psia

	=((15-3)/3)-1*
	=(9-7)/8
	=(25-4)/7

	Sw, fraction
	1–Sw, fraction
	Pc, Psia

	0.28
	0.72
	8.8

	0.48
	0.52
	4.4

	0.63
	0.37
	3.8

	0.75
	0.25
	3.4



Step 1: Plot Pc versus 1-Swi on data sheet with same sized grid.  Tracing paper can be used, if alignment points are marked.





Step 2: Slide horizontally and vertically to match the data points to a particular  value.  The match may fall between the curves shown.  Valid data points should not fall below PcD=1, or to the right of SwD=1 when matched





Step 3: Choose an arbitrary match point (e.g. PcD=1, SwD=1) and use the definitions of PcD=Pc/Pd, and SwD=(1-Sw)/(1-Swi) to determine values of Pd and Swi.





Note, the values of , Pd and Swi for this data set are obfuscated and are provided to allow checking your answers, after completing your match.








